UL AR—

WIS 245 - 202546058 -

1B(X), 8B(K), 15H(K), 22H(K), 20 B(R)FHKEH TS,
3B(1). 5B(A). 6BCRIZOWTIZUTOTAT S L BREREFZRBYET DT, EEISTABHEETE,
HECEY, TOYSL AV RN IE—HNERITEDHEENHYET

F BEEINTOEWERDR Y 2—

<7T=I>—-—"T—)L—

JZDEFELTIKERISITETEMEE TS,
[RO—=I]: RO—LEI (BLEARFHE. RENMVETT) [Eylav]: jl@&smENIBETYT [EE]:EEHITYT [FH]:FTHUHAVLETYT [(BEH]. BESEHIVETT

A X 3 S Ez
- 09:00(60 %) ¥ v X 2 1 2[09:00605) ¥ v X 2 1 | 0:
Lety VYRY=IV(RE) RV T RIU—IL(RE)[RY 09:00

-] —]

09:30 09:30
i 10:108050)/ S — Y F L RA Lalry 10:00(60 43) /;Cx A3]1000(6041) ¥y XX A2 K
Jazey Ry BRIy A ] VURG—I/HR-RE|T RO/ HIRRE 10:00

[RY—)L] [R9—)]
10:30 10:30
10:45(80 )7 V7 7 +—
- BT #)
11:00 11:00(6043) ¥ v X XA 2]11:0060 %) ¥ v X X 1 | 11:00
VY RI=IV R R T RI—IL($R) [RY
Jﬂ}, :25(3093) R K ik - B —\] —]
11:30 }Jﬁq(&oﬁi’z;\;ﬁ?&“” ;}1%0(3051‘)7’775’7% 11:30
12:00 ]g%aoﬁw.%&ﬁu—u/ g;o;egﬁ)%)%?{;: 120080 LT A AL }é:m(soﬁ\)m;‘ﬂ‘d\ﬁ-ff? 12:00
! gns(aoﬁﬂkbﬁd\ﬁ-rﬁi
12:30 1}330(;0]%9[)1;\/—/;5/[1%7};]1\ Ly g%o(aoﬁ\)?b? EYR- 12:30
1;5%30%‘)%)]%&713—)»
1300 | 2000537 57 € 5 R [0 T | R A a 13:00
13:20B09)/ 8=V F I A Ll
A BRlAyaVIFH]

13:30 SRR 13:30
14:00 14:05(305)# kI A—)L 14:00(60 ) AR A SV 14:00
ER 525— L EEIR5 =

WIF#]
14:30 14:30
1;:45(30/;}) HRFRE
15:00 . 15:00
15:30 |15:30(60%3)F v X R 1 £15:30(60 %) F v X R 1 3| 15:30(60 7)) F v AR A3 15:30(607})F v X XA 3 15:30
DG RY= IR RI| T RI—IL(HR)[RI|o T R9—IL (HR)[RY DT RI—IL(HR)[RY
-] -] —] —)\]
16:00 16:00
16:30 |16:30(60%3)F v X 2 1 5]16:30(60 %) F v X X 1 3]16:30(60%") F 45 16:30(60 %) ¥ v X »fE 16:30
DTRG=I/HR-RE|VTRI—I/HR-BRE|VTRI—IL/HR-R DURG—=IV/HR- R
[R9—1] [RG—)] [RY—)L] [RI—]
17:00 17:00
17:30 |17:30(6053)F v X X 1 ]17:30(60 7)) F v X R 1 2]|17:30(6053) ¥ v XX A= 17:30(6053) F v XX A = 17:30
DGRV (RE) [ RV | T RI—IL(RE)[RI|V T RI—IL(RE)[RY YRY—IL(RE)[RY
-] -] —] -]
18:00 18:00
18:30 18:30
19:00 19:00
19:30 | 193060 i—vFnzALLY 19:30

Ao BRI aVFH]

A

X

YERCB:2025/04/22 17:06:34




	202505

